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|. Give exompes of numbers thar are dwisisle oy

@) \0 = 40, \000, ~€0 ®) 3 = 6, 3, -3c00

2.0) Wnat does LCM mean®  Lowest Common wmultiple.

D) Whor- ore muliiples? 10 2 16,20, 20,40 .. .
37 3, 6,9, \2....

A) Whar s the LCM of and 7
6,2 \R(20) 20,
8\, (2
d) What s the LM of 5 and 37 35
5,10,15, 20,25, 30,
¥4 28155)
3.0) What does GQCF meonT  Greghest Common tackor .
B) Whot s Yhe CF of 16 and 247

Vo = \bx)\ 12) e x

Y
24 = 24x 2 2] AR U b
c) Whot s e GCF of |Z and 187

2= 112, 24£6) 3 x
8= 1 x\8, 2xa, 3 x

Trachions:
Y. Putr o \owes:- H(mns: (u%e 6CF\
o) 3 = B M = &) 28 =
\Q 2.\ 32

R. Covery b/W mixed oand wpropex :
M 3k P A% RAVA



d) 2'50 L\_— e) 26 35

©. Solve = hint= You need o common  dengmnaior o
0dd of susioct fochons

B L +3 = By Wia =6 L a o
DS/ By T Y |- \4- o
=
i
O I I B N ANE ) §hs et Lo e
- \8 IR} 8 1) 'L Yy V2 2
us

3. S\We ek = ool NumxNum ond Denx Oen .
™ AWGe , Flip 2™ frochon and AW .

b
AR R -
o\xl?, o 3. VA 2\7_

R
~50
OIS CHME R, :ﬁ_?’:
X R T 5 \ ) &)

\.a) Y57 wmeons the somme os urg and s 0.45
\00
b) 6% ™mens _&  and 0.006
100
&) \257% eans 125 and |, 25
|00



2.0) what percent s ;%_?

5) Whot percent s \8 7
20

3, Jess art 3 of Nis grapes. Nick ote’ 4 of Wis 0graees.
PEXYC oRR 30% of WS Qvdpes , and Gall ate % £ her

\§o\ .
TN Who ofe the most?  B) who ate the last?

b Whod s 2%5% as o veduced ackhon?

5. 30% of wWhot numbec s c0\7vxa\ 4o 35T

©. Wnot is your percert € you scored 120 on
S N\ Vo ol S e e ok vl a0 e
2\0 E__ L = ;B—Q - &Q%
=100 \5 X20 \w

Acea
Sguare = oh Qedam&e = o\ ?arq\\ek%mm = bh

’W\o\(\%\e = bh or 0.5%N
2
Ciccle = Ave*

I ¥wnd Yne area of :

o\ ’E(\O\\\O&C Dose O@r\_orfc/\l\‘_—\omd\ \'\ﬁi%\\‘\' of 10om

b) ciecle  adius of 22m . B.81Ed72



C’\ I
!h:P /A=l%0.6mm"
|

135.0m \
b 2

8. Sole:

o) H+lwy= BY —13+8 =
)~ = & a=E4) =

) B3+ -5 =32 &) —F=E=12) +(-5) =

4, The ‘emporoture or Som was —14C. By Spm i+
nad r(se?\ Yo 8°C., Nhat \s +he d‘\féPeW@(\yce Qf\ +enpT

0\0\4 3
Co-ordinaye. ¥lane

o

| (

|

o S \ 3

XG4T ——t— >/QC
_\l Honzasia\ AXis
Co-ordinates 4 i
(%)

Port A(%,5)  B(-2,2)  draw C(0,-1.5)

I 1€ Pont Mis ot (3,2) and is +ranslated lunit Cight
and 3 units (efr, whete s locoted?

(33— (143)



Potterns 4 Eguotions

2. Use the following +0 solve: (T=14ies, N =Fig.#)

Figure | Fiqure Z Tigure 3
] | L 1]
o) For cach new R more Tile I

b) Complete the +uble:

N )
L Xiles

—t7

c) Weit+e Yhe eo‘v\m\*\'on |

4\
= )

3. Solve.

D) 2% =\G b) Pm = -2l <) —45 = -9%
=2, 22 +-9 t.q
% =g B _=x|

check: Vi ~

22 =16 Im = -2 -45 = -4

2(3) = \b vy 3(-P=-2/ -45 = -9(5)

) x+3=10 &) d-12=4 F) 2x+3=15
-\ T\

y \

X+F = 10 o -\ = -4 !

3+F =10y R —\L = -4, 2% + 5 =15

2(C) +3



